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17:30 HrH060 Vs 77 Ly &7 I—=|Cinquante / EH~AZ—R

1 6H8H H | NFC-B 18:40 2% FCOB vs AEAI—=zmdoso| FE / L X
19:50 | FC Cinquante vs DM~ AHX —X[&AKRFCOB / AENI—=

17:30 Z3 B FCOB Vs HrHE060 7 7L v% / Cinquante| RHET
2 6H29H H | RffeE | 18:40 | =3 —=2nd 060 vs D~ A X —X| ZSEFCOB / HiE

19:50 | 77ve427I—= vs FC Cinquante [AEAI—= / @HvAZ—X

17:30 ZSBFCOB vs FC Cinquante |#f/E / A/ I—o
3 8H23H + | NFC-B 18:40 |DEH~AHX—X yvs /7L 27 3I—3(ZRBFCOB / Cinquante
19:50 H1FE060 Vs AEAI—=2nd 060 | HH~vAY—X [/ syl

17:30 | FC Cinquante vs H1FE060 EH~ A% —2 [/ ZSRFCOB
4 9H14H H | NPC-B 18:40 |7 7vos#73—= vs =2eaz—=2nd 060| Cinquante / HiFE
19:50 |IDEH~AH—X vs Z5 ELFCOB srLuHs ) AEAI—I

17:30 |7 7ve#7I—2 ys %5 BEFCOB AE)VI—= / Cinquante
5 9H28H H NFC-A 18:40 |IDEH~AX—X vs HrFE060 g7 VvH /) ZSEFCOB
19:50 | xerx—=2nd 060 vs FC Cinquante |mH~AZ—X / SHIE

17:30 |7 7vvs73—2 vs HrHE060 #EH~A%—2 / Cinquante
6 10H4H + | NFC-B | 18:40 | =& I—=2nd 060 vs Z3 FLFCOB JrLvrH /) HIE
19:50 |DE M~ A% —X vs FC Cinquante |AE/A3I—= / ZSEFCOB

17:30 Hr 060 vs ZSRFCOB Cinquante / 27 7L v &
7| 10H12H H NFC-A 18:40 |pEH~A¥ —X vs =eas—=omdoso| FE / ZEFCOB

19:50 FC Cinquante vs Z7LyZ7I—=|@mlH~vAg—X / RELI—o

17:30 FC Cinquante vs 25 EFCOB AN —2 / HE
8 11H8H + | NFC-A 18:40 |77V #73—=2 vs DEH~ AZ —X|Cinquante / Z3EFCOB

19:50 | xer3—=2nd 060 vs HrFE060 Ly ) ERHvAZ—X
17:30 S FE060 vs FC Cinquante |[#&RFCOB / @mH~AXZ—X
9| 11H16H H NFC-B 18:40 | =xe3—=2d 060 vs 77 Lr#73i—=| FHHAE / Cinguante
19:50 Zx EFCOB vs DEmH~AZ —X|2vr3I—=a / JyLoX
17:30 | FC Cinquante vs AEAI—=2nd 060 |H7FE / @EHYAZ—X
10 12A7H H NFC-A 18:40 25 BFCOB vs 7 7L #7 I—od|Cinquante / AENLI—

19:50 #1060 vs DEH~ A X —X|ZREFCOB / Z 7 L4




